101 2 15. 25°C 1.0000g  NagPO, 100.0 mL 5gNaCl 2

C3601-C3605 05000 M HCl (o HCl (2y10.00 mL NagPO,
2 (NagPO, 163.94 H3;PO, Ka 7.11x10 ° Ka, 6.34x10 ® Kag 4.20x10 )
- @ 27.33% @ 40.99% ® 54.65% ® 81.97%
1 16.4.0000g 4500mL  0.2000 M HCl 0.1000 M NaOH
@ 50 2 2B HCl 10.00 mL Mg(OH) , Mg(OH), 58.3
° 10 @ 5.83% @ 7.29% ® 11.7% ® 14.6%
1 17.
© ® Ag’ @ ca” ® Mg” @Al
4 1 3 18. 1.0000 g NaOH Na,CO; NaHCO;
® @ © @ 0.5000 M HCl ? 1000 mL HClg 2
2 2.(8.6+234)x(12.01 1.217) 15.00 ML HCl (4, (NaOH 40 Na,COs
® 117 @ 118 ® 117.6 @ 117.61 106 NaHCO; 84)
3 3 ® Na,CO; 53.00% @ NaHCO; 42.00%
@ 0.01 mL @ 0.02 mL ® 0.05mL @ 0.50 mL ® Na,CO; 53.00% NaHCO; 21.00% ® NaOH 20.00% NaHCO; 63.00%
4 4 F 1 19.25°C 3M
® KSCNag) @ NaOHa ® Ko[FE(CN)4] (aq) ® Ko[FE(CN)4] (aq) © NaCl (ag) @ AGNO3(a) ® CuSOs(zq) ® KOH )
® NO @ He ® 0, ® CO, 20 mL 0.1 M NaOH
L6 (to contain, TC) @ 20 mL @ 50 mL ® 100 mL ® 150 mL
0 ® 3 @ 2 21 pH=3 HCly CH4COOH; 100 mL 200 mL
4 7 (CH,COOH Ka 1.8x10 °
' ®[H] HCl CHsCOOH @ pOH HCl CH,COOH
@ (KMnO,) KMnO4 ) @ (Volhard)  K,CrOy( ) 5 %H é” [CHG O(3)H] o E’:H COOH 3
® (lodimetric titration) ( )®EDTA EBT( ) ® 3
- 3 22. EDTA
® H,S @ HCl ® HClo @ H,C,0, O ® EDTA
® EBT ® KCN
3 9 (Volhard) ] .
D ® @ @ 2 23 10 °M 25°C  X(OH), K
8 16 2+ 2+
3 10. (lodometric titration) 10 YZ+(OH)2 Ke )1<02+ 0.01MX 001MY pH
g 2 g ®7<pH<11 @9<pH<11 @pH<7 pH>11 @pH<9 pH>11
11 4 24. 100 mL 1M Co(NH3),Claag AINOsg 0.1mole AgCl
® Na @K ® c& @ B& 6
®n 3 @ Co 2
2 12 5 @
g 3 25 1mg 1L lcm
® 420 nm 0.6 22000M ‘cm !
, (log2 030 log3 0.48)
@ (Lambert-Beer’s|aw) ® 282 @ 36.7 ® 100 @ 200
4 13. N204(g) = 2N02(g) ?H Q(Q O) 3 2. Fe2+ C
0 @ c
© He ® @ ® @
®
3 27. ananO4(aq)"CUSO4(aq)|CU
1 14 2.0M NaOH 1.0M o ®
® ®

®0.75M @ 1.00M ®125M ® 150M
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4 32
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4 33
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1 34
@ SO3

1 35

3 36.

ppm
® 3 ppm

4 37.

@
pH 7
@
Cd?
@ 30 ppm
@
KNOg3

KNOgs

@

@

@)

@

® @

@

@ 100°C

@ 0°C

® @

0.03%

® 300 ppm @ 3000 ppm

® @
0.1 M KNOs(4

KNOg(ag >0.1M

KNOj3(,y<0.1M

KNO3(xy<0.1M

KNOse=0.1M

4 40.
@ @
® @
3 41
€Y
(b)
(c) HCI
(d) HCI
®@ (9 @ (b) (0 ® (b) (d) @@ (b
4 42,
@ @
® @
3 43. 25°C 760 mmHg
mmHg 25°C 24 mmHg
® 1544 @ 1520 ® 1496 @ 1472
3 44
D 029 25 mL
(2 40mL 0.1M  HCl g
3 ? 0.1 M NaOH (4 20.0 mL
(CaC0O5=100)
® 20% @ 25% ® 50% @ 60%
1 45 A B C A 006m (CeH120g) B 0.05m (NaCl)
C 003m (K2S0y)
® B>C>A @ A>B>C ® C>A>B @ B>A>C
2 46.
®
@
®
@
, 2 47.
Cd (A)
(B)
©)
(@ (b) (c) (d) (e ()
®Aa Bb Cc @Ac Bd Ce ®Ab Be Ca @Ac Bf Cb
1 48 96500
® 05 0.25 @05 1 ®1 05 @1 025
3 49. (CaRy) (NaCl)
117 g CaR, 2Na ® 2NaR Ca’
(Na 23 CI 35.5)
® 0.25 @ 0.5 ® 1.0 @ 2.0
2 50. 1209 Kl N&axS;03(a)
I, -
0.100 M Na,S,04 30.0 mL H,0,
(H20,=34)
® 3.25% @ 4.25% ® 6.41% @ 10.63%



